1000




o ak
22 ERAL S,

™ <t

3

.

ul



£ 54419,

SeUrt 7t caLe] 27

SH
H

=

1

Lk

e
L

Z}

~H
IS

oln

30°




l.ﬂ
ofl

f



4

Aaox



19.68 + 32




7.

e el %

o]—/\]

13.02 =8




sto] 5= A A= 7HA] LAl 2,

85+9




2.5625

5625
10000

1121
10000

@ 2
® 2



10.

T 40 2715 Hlwste] Otel] >, =, <

19
~= 00473
1) 35 ©

146
— (0 0.733
2) 200 O

D <, < @ <,

<

B <, >

E =t HAlQ
@ >, > ® >, <



e FAL AL

L

3.08



12.

Zo]7} 33cm <l
] Zole B ¢

1
® 63(3111

4
@ 65CH1

TIL
T
cm

o
ol
1=

=

A Q 7}
Y7o

09.,

o

2
@ 65CH1

® T7em

® 6§cm

ret



13. weAlS kAL,

10

1—375
1 2 3 4 5
Oz @057 0= @5  0O0Z







15, Zol7} 6m Q1 B2e] 2AZE72ke Uik o] B2 4m o RAE 2

kg 4] oA 2,

4 7
@) 1Bkg @ 1—kg ® 2—kg



—X5H+8




17. ©he e FolA thireldel 27 ¢}

O 22+5 @ 9+38
@ 6 =280 ® 36.4=6



e 7}§EE} m \:1 71%] A2 TIAL S

YEE m



19. 0.630.9 Aelole BA7F18%] 2471 =5 R 7 QEA] 2412,

SER gl



20.

37 x 48 = 1776 4-& o] &

037x48 =] |
S



21. o= &°l 2 AFH &M=z 1 7128 A=t

@ 0.37x7.2 © 126x6.5x%x4

© 42x26x5

=
ue



22. A7|E HAst Ot >, =, <& €9

4 5
28— +4 35— +5
7 O 6




23.

WR7F ZAEG 24 B 231, AR I 047} He E54E
AL



ohe B4 5 10 4 ke B ol AU

21
20

124
125

76
75

23
24

©)

26
25



25. o® HA7} 5km 600m =

7he ) 6L o] 44718 a sy a g,

e mzr|2 9 of 4L 500mL o] AfFEs 2 km & 2 4 e
TForA L
14 3 2
— -k 2-k
@ 1?km @) 43m ® Zkm
@ 4gkm ® ngm



